#Folder: univar Figure ID: 1

#Distribution of ID (lattice)

histogram(xlab="ID", type="count",layout=c(l, 1) ,data=pdata,x=~1ID)
#Folder: uniwvar Figure ID: 2

¥Distribution of ID (ggplot2)

gqrlot (x1lab="1ID", geom="hi=ztogram”, layout=c(l, 1) ,data=pdata,binwidth=1.13,x=1ID)

#Folder: univwvar Figure ID: 3
#Distribution of PID (lattice)
histogram(xlab="PID", type="count",layout=c(l, 1l),data=pdata,x=~PID)

#Folder: univar Figure ID: 4
#Distribution of PID (ggplotz)
gqplot (x1ab="PID", geom="histogram", layout=c(l, 1l),data=pdata,binwidth=1l.3,=x=PID)

#Folder: univar Figure ID: 5
¥Distribution of TIME (lattice)
histogram(xlab="TIME", type="count", layvout=c(l, 1) ,data=pdata,x=~TIME)

#Folder: univar Figure ID: &
#Distribution of TIME (ggplot2)
gqplot (x1lab="TIME", geom="histogram", layvout=c(l, 1) ,data=pdata,binwidth=1l.62,x=TIME)



